
Background The iollovting two selections are exomples of writlng about the

sea-in particular, the creatures known as sea stars, or starfish. The word

starfish is m!sleading. Starfish ore noi actua!ly fish but echinoderms, snimols

with spit'ty skeletons. Alihough siarfish came in a wide range of sizes, most

spec[es are between eight and twelve inches in Ciameter and have five arms.

Their colors range from brown to various shades of yellow, orange, and pink.

Starfish are ilexible and move by using the tube feet on the undersides of their

arms.

Starfistr Poem by l-orna Dee Cervantes

Sea Stars Essay by Barbara Fiurd

torna Eee eenvantes Growing up in San Jcse, Califarnia, Lorns Dee Cervantes

discovered literature by reading the books in the hcuses ihai her ntoiher cieaned

for a living. Cervantes contpleted her first coiiection of poeiry when she vras

fiiteen.lllriting gave Cervanies, who is af Atte;<ican and Anerican lndion GncesLrr,,

a sense of freedom: "V(hen you grow up as I did, a Chican-inCid ln a barrio in a

h4exican neiEhborhaad in Calirornict . . . ycu'ie lqnorec . . . At'ici ycu're rtot

expeciea to speck, nuch less ytriie."

Farhara Ff ulr=d Ls o ',/iiit?i t'',,!ro stecicltzes ir: :reati,.re i Laui:iic;n riti-!,!r., v,r:'iiine .

S!:ee;:,;iairts,"i'n!nrerestecl irt !cricisc,:,'aes,!:c,:i'. 1;12';i;;';t6i!-ltL/litJSCi';,li
Cri,,,t5- j.ljii i,i':2 ;tt',t::',Claql:::1, tti:i ire rtltilea,i lt)t !i-:i,i!ai:,t:aiii:s :rt:!
cor it;sciiciie- i-is, laaiec vr'ilit se':tei ,t, :: c::! 'it ii,r \it'ftc t aiii'i i''', irl11;ii; ':': ,' | 2=. ',,.

i,-',:i, t,,:,i:i: ,t-:tczrly,;-,:e:szci i,,,i' -i:gl:;,:ri:t': ct,l icrttt:ct€, itC,.iZ;:i;e ra\tiai t..)

t:r,tfi5,',::;i-:'t z):p€riet,:ce trttc -<ct-;'e :i':;tii tatlii::e.i Sitt' r,i€tlitifiti'-:!.... i'::'i ii'i:€t :oi:1,

iil :t:tte ;':.1\/ai'cts, r,',,i tic.i.-t !euttes t,lte rec-.'ier ct:i i:':e::t i=cs: i::;ee-:!eep ,';: ti::s 't..'c:'!!,

c\,i'l'cre ti'crici ci;t't:::i ti(eci<er tho:: t'tte'"t. lsil |c r:s;s'r."
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li:ir Qii'icla ai , 1{:'\1

ffi Asyou read lines 1-15 of "stanfishi begin to

cite text e,ridence.

. Underllne examples of fiEurrative langr:age'

. Circle text used to describe ti-le starfislr's body'

" ln the margin, expiain il-le aciions of the speaker'

Lornra Dee Cerval-ltes

They r'vere io.rel;v in ihe ciuartz anci jasper sand

As if ihey had creared te rrariuursr r'vith ihetr- bodies

Cn purpose; addrng sprigs of sea.r,veec1' seashells,

White iealhet-s, eel bones, mlniature

Mussels, a fish jalv. Hundreds; no-
Thousands of bab,y stars. We touched them,

Surprised to find them soft, pliant, almost

Living in their attitudes' We would dry them' arrange them'

Forrn seascapes, geodesics' ' . . We gathered what we could

In the approaching darkness' Then we left hundreds of

Thousands of flawless five-fingered specimens sprawled

Along the beach as far as we could see, all massed

Together: little martyrs, soldiers, artiess suicides

In lifelong liberation from the sea. So many

Spiayed hands, the tide shoveled in'

I terrarium:
2 geodesic:

small enclosure or container that houses plants or animals'

interlocking, repeating Pattern.

I

pliarrt:

'10

15

t. €[$[$[$ Reread lines 1*l5. How does the description of the

"ffiro*t-'ing darkness" change the tone of the poem? What happens to

the starfish the speaker leaves behind? support your answer with

exPlicit text evidence.
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5HSfiT REsPOru5r

How does the poet's use of figuratrve lanEuage contribute

to her ceniral idea? Cite text evidence to sLlpport your response.
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futile:

contingent:

, , ,ffi As you reaci lines 1-12 af "Sea Siarsi'begin to

cite ie){t e',,ridence.

' Unclerline urcr-cls a:rcl phl'ases used to describe tile sk'v' the

moofi, and the siars'

, fiicle texi ihai g!iies ihe sea siar's hutntai^r c1'-ialiries'

. 1rr ihe rnaroin, explain ihe cctrroa''isol^r ihe ar:rhor malies'

Barbal"a Ftrurel

t"-th" sirT is uinir rnis rilorning zrncl on ihe shcr'e a 
"zho1e 

hcsi' c'f se;r' sta'is

I i.u, been sirancied'

1 hnorv fr:oil ihe charis ihe moon .,vas fr-i1i last night, the midnigl]i ticle

higher ihan r-rsi'ral. Vlere the sliies cleai:? s/ere the siars orrt? 1,d lilte io lrave

seen these creaiures ihen: siars in the dark overhead anci here a spiny

consieliaiion draped ovei: ihe rocks'

One of ihe largest, a nor the rn sea siar' nolv lies upside down in the

palm of my hand. Almosi a fooi across' its orangy body giisiens wei in ihe

clawn 1lght. Hundreds of slender iurbes wriggie like antennae' only these

l0aren,tSenseorgans;they'refeet,andr,vhatthey,researchingforisa,tfoodor

enemy or mate, but something to cling to' any firm surface that can anchor

them and end thrs ftitiXe flailing at ihe air'

Of its five arms, three remain, five or si'r tnches long' I've read that most

sea stars lose their limbs to oiher sea stars'hunger. Traveling in slow-

motion swarms' the lead contingent feasis on oysiers and clams' depleting

thesupplyforthoseintherear,whoresorttothenearestneighbor,Sarm.

r host: an army, grouP or formaiion'

,.ffiRereadlines1_12.lnyourownwords,explainthecentral
idea of these lines.

3" m As you reacl lines 13-26, continue to cite text evidence'

. Underline facts about the life cycle of the sea star'

" Clrcle emotions that humans are "burdened"wiih'

. ln the margin, explain the physical feeling that both amputees and

pecple born without a Iimb may have in common'
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:)
- - .lVhich of the following staternents rnust be tnne

tf LGMI ^iLIKL?

A

ts

The two hiangles must be scalene

The two triangles urust have exactly one acute
angie:

At le,lst one of the sides of the two triangles
n-rust be paralle1.

TLre corresponding sides of the tr,vo triangles
must be propofiional.

Which method listed below coutrd zol be used to
prove that two triangles are congruent?

A Prove all tbree sets ofcorresponding sides
congruent.

B Prove a1l thlee sets ofcorresponding angles
congruent.

C Prove that two sides and an included ansle of
one n-iangle are congruent to two sides and
included angle of the other triangle.

D Prove that two angles and an included side of
one h-iangie are congnent to two angles aad
an included side of the other triangle.

Show work on a separate sheet of paper.

A
fu)
t_:./ Wirat is the height oi'tlais rectaugle?

I

1

A 1 unit

lE 6 units

C JGunits

D J113 units

Marslaa I's using a stnaighfecnge amd cormpass to
do the construction shown henow"

triangtres mrust be sirdtrar?

.{ two obtuse triangles

B two scalene triangles with congruent bases

C two right triangies

D two isosceles triangles with congruent
vertex angles

Wnaicna of the llolnorving facts w,oulcl be sufficiemt
ilo nrrove that tniangn,es.4 tsC and DEE are
simainar?

LE

A VE and. BE uecongruent.

B IACE is a righr arigle.

C AC nd DP aieparallel.

D lA and ZB are congruent.

\7
Which

@ What is the area, in squar,e centirneters,
of rhormbus RS?]/ tt RT:16 cm and
SV = 12 ffilr

Which 6esf describes the construction Marsha
is doing?

A a Line through Pparal1el to line /

B a line through P intersecting line /

C a line ftrough P congruent to line /

D a line through P perpendicular to line /

What is ttr-e first step in constructing the angle
bisector of angtre A?

Draw rayiD.
Draw a line segment connecting points.B
and C.

From points B and C, draw equal arcs that
intersect at D.

From point A, draw an arc that intersects the
sides of the angle at points B and C.

n(&l 
Xn the figur.e hetrow, sira.4 = 0.7,

A

ts

C

D

40

48

96

192

B

What is the iength ot rcZ

A.

B

C

D

141

21.1

30

32



(D

(! faraXlelograni,A-BCD is shovr.n betrow

Dc

Wndch pair of triarngles cara be estabtrisX.red to
he congruemf to prov,e that 1U,4ts = IECD ?

A. L.ADC and LBCD

ts AAE, and ABEC

C. ADAB and ABCD

D ADEC and ABEA

lB=lY
lC=lZ
lX= lY

m A.ABC and LXyZ are trvo tr.iangtres suctr
., A,E ECthat 

- 
= yZ , which of the followilrg woilld

be sufficient to nlr-oye the friangles are siiniiar?

.t25l\ cosx=-and tanx=-13 12

*1212l' cos.r = - And tan x= 
-135

13 5C cOsx=jiand12n;r=_
12 l2

^1313iLJ cosx=-andtan.r=-125

peninaeters of two squares are in a natio of'
4 to 9, What is tlie ratio between the areas of
the two squares?

A 2to3

ts 4to9

C l6to27

D 16ro81

/ 11\g/
Sfudents in a class rewrote ttaeorerns in their
own lvords. One student vyrote the iollowing
statement,

The area of a parallelogram is the
product of any base (b) and any height (h).

Wlaictr figure shows a counterexarnpne to prove
the staternent/a/se?

l^
I

b

b

lo

I

lo
I

Two angnes of a tniangXe harre rneasunes of 55.
ancl 65'. Whicna of the fotrnowing could nol be a
measure of'an exterior angtre of, tfie triangle?

A. 115"

E 120"

c 125'

D 130'

Qf C ff' r fY L1 Z-f v 1r r-,-.;

i\l j)
{ 
:-rn 

tr,u figure below, if, sin x : 1. what are
I o"* " and tar, t? 'tJ

.4

B

L

D

f^\-/ nn the figure below, ,4C =D F and lA= ZJ)"

Which adclitionaX infon:{.nafiod woartrd be enough
to prove that A.4EC: LDEF?

A. en.tOq
ts AB.IBC

C nC=W
D AC=Af

{n t}re accourpanying diagrana, paraileX Xines I
and rz are cut by tnansversatr l.

WXaich staternemt about angtres X and2 must
be true?

A lt=12.
E 21 is the complement of 12.
,C 21 is the supplement of 12.
D lland l2areightangles.

surn of the interior angles of a polygon is
the sarne as the sum of its exterior angles. What
type of polygon is it?

,d quadrilateral

B hexagon

C octagon

D decagon

cscwt

If the rneasure of an exterion angtre of a regunan
potrygon is 120o, Iaow rnany sides does the
polygon have?

A3
E4
C5
D6

L'



Algebra 1 Vlinter Review 7A14-2015

Name: Date:

MAF5.912.S-1D.1-.1

A social networking website researched the ages of its male users and female users. The findings were recorded

in the box plots below' 
Ages of scciar r{ettr$rking u5ers

lll''tale Users

fiFenrale Users
-t

rh r's :'o :'s io gs +'o 45 :'e 55 60 65 7a ?5 8s

,.ige* {Yearsl

Which of the following statements are true regarding the box plots above?

L The age range of female users is greater than the age range of male users.

ll. Th e percentage of female users that a re ages 10 - 15 is greater tha n the percentage of ma le users that

are ages 10 - 15'

lll. The median age of female users is greater than the median age of male users.

lV. There is a 30 year age difference between the oldest female user and the oldest male user.

A. land lV
B. land lll
C. ll and lll

D. lland lV

2. MAFS.s12.S-rD.2.s

A group of ice cream shop customers were asked to choose their favorite ice cream flavor. The results are shown

in the two-way frequency table below.

Favorite lce Cream Flavor

Vanilla Chocolate' Strawbeiry Cookie Dough Rocky Road Totdl

Adults 29 43 45 27 29 173

Children 12 72 24 48 19 175

I otal 47 115 69 75 48 348

Approximately what percentage of the ice cream shop customers are children?

A. 50.79%

B. 47.74%

c. 27.43%

D. 49.7r%

MA.F5.912.5 1D.1.3

For the data below, construct a frequency histogram usin8 nine classes
Ihe data set: The Cdliforniq pick Three Lottery.

138a7
77697
9553a

A. Symmetric
B. Uniform
C, Skewed left
D. Skewed.ight

1.

J.

765a6
7A766
84924

t

Describe the shape of the histoEram



Algebra 1 Winter Review za14-2015
MAFS.912.A-REr.2.3

AT' Which graph represents the solution to -3r + 6 > 6?

A.

a

-+--{-3-?-1 * 1 g 3 't 5

f i. li,4 llEFlllli
-5-,{-3-g-1 ft 1t g 4 5

{tltlttffi
-5*4J-X-L * 1 2 3'tr 5

-$-4-3-g-L * 1 p 3 4 5

MAFS.912.A-RE1.2.3

Marie is saving money for home repairs. To date, she has saved S1,282. She needs at least St,gOA for the

repairs. She plans to set aside SSa per week to add to her current savings. lf this situation is modeled by the

inequality below, how many more weeks, x, does she need to continue saving in order to have enough money

for the repairs?

5.

$t,zBZ * $5Bx > $1,804

A. x221,
B. x>-27
C. x>9
D. x>53

6. MAFs.912.A-cED.1.4

ln the following formula, uf is initial velocity, ue is ending velocity, a is acceleration, and d is distance .lf vi is7
meters per second, a is 8 meters per second squared, and d is 2 meters, what is the value of ue?

A. 4.12 meters per second

B. 5.74 meters per second

C. 6.25 meters per second

D. 9 meters per second

- MAFS.gtz.F-lF.t.2

Rewrite the following equation as a function of x.

B.

D,

A. f {x): +g *
B. f(i= *-
c. f(x):49 +

o. f(x)= *+

10x
1

-x10

I0x
L

-L10

U)

70x*7y-343:0
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MAFS.912. F-1F.1.1:

8. A real estate company purchased a vast area of lakefront property. The company plans to divide the area into

several lots so that customers can purchase a lot and build a home. The length of each lot is represented by the

function below, where w represents the width of each lot. The minimum length of a lot will be 51 feet, and the

maximum length of a lot will be 204 feet.

L(w):3w - L5

What is the domain ot L{w)?

A. all real numbers between and includlng 51 and 204

B. all real numbers

C. all real numbers greater than or equal to 5

D. all real numb-ers betweon anrl inchr6lipg22andT3

9. MAFS.912.A-cED.1.1

Maria is having a birthday party for her friend, Miguel. A total of 50 people will be at the party. She currently has

eight sodas. Which inequality can be used to determine how many 12-packs of soda (x) she should buy so that

each person can have at least two sodas?

A. x*8250
B. L2x* B>50
C. x*B>100
D.72x* B>100

MAFS.912.A-CED.1.4:

10. The formula for the area, A, of a trapezoid is shown below, where ft represents its height and b1 and b2

represent the lengths of its bases. For this problem, let b1 represent the length of its shorter base.

1.A: -h(bL+ b2)

Which of the descriptions below is equivalent to the formula shown above?

A. The length of the longer base is eq ual to the q uotient of twice the a rea a nd the height, plus th e length of the

shorter base.

B. The height is equal to twice the area divided by the product of the lengths of the two bases.

C. The length of the longer base is eq ua I to the q uotient of the area a nd the height, minus ha lf the length of the

shorter base.

D. The height is equal to twice the area divided by the sum of the lengths of the two bases.

MAF5.912-S-1D.1.2

11. An elevator can hold a maximum of 1,500 pounds. Eight people need to use the elevator. Bill had some

measures from the data set of how much each person weighed. Which measure would be most useful to

determine if the people can safely use the elevator?

A. mean

B. median

C. mode

D. interquartile range

ci



12. MAFs.912.s-1D.1.2
11lrjt'L'{ti;'

pizza pDe hosted two pizza parties last Friday. The number of slices of pizza eaten by partygoers is displayed on

the dot plots below. Based on this data, which of the following generalizations can be made?

Fizza FartY 1

c*|*t
**ll
|llrl ,
t{}at;J**
tz345S?

Slices of Pizz* Eat€n

Fizza P*rty Z

lt*oa** tr a *lr*+,}*ta***
1234567

Sfices qf Fizza tsaten

1f,tJ-

A. Each data set has a mean of 3' The medians are not equal'

B. The medians and means of both data sets are not close in value.

c. Each data set has a mean of 3. Each data set has a median of 3.

D- The medians and means of both data sets are close to or equal to 3

MAFS.912.F-1F.1.2

The table below shows the cost of a pizza based on the number of toppings'

Number of ToPPings {n) Cost {C}

L s12.oo

2 5rg.so
3 s1_s.oo

4 s16.s0

Which function represents the cost of a pizza with n toppings?

A. C(")
B. C(n)
c. C(n)
D. C(n)

12 + LS(n- 1)

lSn * \2
12*n
12n

MAFS.91-2.A-CED.1.1-lLl+' 
Betsy,s high school is putting on a production of a play as a fundraiser for the school's music programs. A local

bank has agreed to allow the school to use a line of credit from which they can withdraw money to pay for the

play. Then, any deposits they make at the bank will be applied to the negative balance of the credit account.

The play cost S2,200.O0 to produce, and they intend to sell tickets for SS each. After the play, Betsy will take the

ticket proceeds and deposit them with the bank. lf 560 people attend the play's opening night, what will the

balance ofthe bank account be?

A. 55,000

B. $2,800

c. s6o0

D. -s2,088

15. MAFS.e12.F-lF-L.1:

A real est3te company purchased a vast area of lakefront property. The company plans to divide the area into

several lots so that customers can purchase a lot and bulld a home. The length of each lot is represented by the

function below, where w represents ihe width of each lot. The minimunr }ength of a lot wili be 51 feet, and the

maximum length of a Jot will be 204 feet'
- 

Whut i, the domaln of l(w)? t(w) = 3w - 15

A. all real numbeis beiween and including 51 and 204

B. all real numbers

C. all real numbers greater than or equai to 5

D. all real numbers between and including 22 and 73 It



U.S. History Winter Assignment

Create a "Top 5" Review Poster

1, Choose one of the following topics from US History to review: (Civil War,

Reconstruction, Settlement of the West (late 1800s), Growth of Industry
(late 1800s), Early Labor Movement (late 1800s), Progressive Era,

Urbanization and Immigration (late 1800s), U,S, Imperialism, World War I).

2. Choose the 5 most important PEOPLE from that era in US History,

3. Choose the 5 most important KEY TERMS associated with that era in US

History.

4. Choose the 5 most important EVENTS from that time period and list them

on a timeline.

5. Find 5 PRIMARY SOURCES (photographs, political cartoons/ newspaper

headlines, etc.) from that time period,

6, Neatly display all of the above (people, key terms, timeline of events,

and primary sources) on a Poster.

7. Be prepared to share your poster with the class!

I\


